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Half Yearly Examination
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Subject — Business Statistics
M.M.75
YT $FE ¥ TF WA TAS g0 Wl O e F 3o A | W wA &

3T gAT %‘ Attempt all the five questions selecting one question from each unit. All

question carry equal marks.
SH1S | (Unit )
1) RO & AR ALY AT Ao

Calculate arithmetic mean from the following table:

AT Size 3111% Frequency

5 q HA 7

109 &H 20

5-15 38

15 d4T A8® 55

20-25 20

25 a7 3% 5

30T 8w 1
JAYdT OR

frt angfar faeror & sgers aa A

Calculate mode from the following Frequency distribution:

ALy fdg Mid Value g Frequency

1 2

2 4

3 10

4 8

5 5

6 3
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EH1E 11 (Unit lI)
2)fFe ARol ¥ wT g aur sad e AT Ao

Calculate the standard deviation and its coefficient of the following series:

3% (§ 37OF)Marks (more than) SET fI G&AT No. of students
0 100
10 90
20 75
30 50
40 20
50 10
60 5
70 0
34l OR
Iqd% AT @RT RAYATT AT A
Calculate coefficient of skewness using quartiles:
HEg ﬁg Mid Value 3ﬂ§_ﬁ'Frequency
15 30
20 28
25 25
30 24
35 10
40 21

&1 11l (Unit 1)
3)feFT THEH § AT G o TAHET Ueled U {g & & o

TGS § AT el : From the following data, find out if there is any
relationship between density of population and death rate:

fIem Distruct | &F®er (TIT A EAT Alar & e
f&reft)Area ( Population No. Of Deaths
Square km)

A 120 24000 288

B 150 75000 1125
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C 80 48000 768
D 50 40000 720
E 250 50000 650
FYar OR
Rt an fow gu @
Given the following values ;
g 3T Yield of wheat 3|a yaAT faeerd
a7 (FFam ufd sF1S)Area (kg per 10 8
unit)
auT(@=. ) Rain (in cm) 8 2

3cq1GsT 9 a1 & d9g Jguey WCorrelation coefficient between
production and rain fall r=0.5

Ffaa 3caea 9asU Sidfh auT 9 {HY. & Estimate the yield when rain

fall is 9 cm.

SHIS IV(Unit IV)

4)F i A Fgraar ¥ fhR Ay FAa e fr e fifad

Construct with the help of the data given below Fisher’s ideal index number;

a&d YR ay Base year dle] ay¥ Current year
Commodity AT Price | AT Quantity | A Price | ATAT Quantity
A 8 50 20 60
B 2 15 6 10
C 1 20 2 25
D 2 10 5 8
E i 40 3 30
HYdr OR

fArfaf@a w1 Aol FFA & AT geras a9 [fYr @rr wWa wfaf
@1 &1 IS Ao qur a¥ 2002 & {ed H AT PG 2

Fit a straight line trend by the method of least squares to the following time series
data and estimate the value for 2002;
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av T
1993 80
1994 90
1995 92
1996 83
1997 94
1998 99
1999 92
ZHI$ V (Unit V)

5)(A)1330ﬁmm?30mﬁﬁwma@$
Tl ST & 39 fewe W @y dear 3 a1 11 7 39acd glel @l
uiRedr Atd Hifed

From 30 ticket marked with the first 30 numerals one is drawn at
random. Find the probability that the number on this ticket is a multiple
of3orll.

(B) 52 TaT ¥ ¥ UH UeT TGIIH TN ol § Eh RfSAT A A9
a1 ST T IEAE BT P WRHAT 41 § ?

From a pack of 52 cards is drawn at random. What is the probability that
it will be a queen of club or king of diamond?

HYAT OR

SATGATAE JalTAT & €A, Fohfc TAT dheilh $I [Fagear fifed ?

Discuss the objects, nature and technique of business forecasting?
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